Time Allowed: 20 Minutes

Model Paper

Chemistry Paper - XII
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SECTION-A

Marks : 18

Which one of the given is an ;

1 amphotericoxideg O Nax0 O sio O A0 O No,
Which one of the given

2 ﬁart%ona?tes decomposes on O Li2CO3 O Na2COs O K2COs O Rb2COs3
eating?
Which one of the given oxides :

3 goes not react with water? O sioy O o O sos O cwo
The oxidation state of chromium

4 in CrOClis.......... 2 O s O 4 O e

5 The coordination number of iron O 9 O 3 O 4 O 6
in [Fe(CN)gJ*-is .....
The first transition element in 3d :

6 Seriesis........ O T O se O v O

7 Which of the given is coal gas? O CO + NH; O CO + CH4 O CO +H2 O CO + CzH2
The hemolytic fission of C-C bond

8 inethane gllf\t/esanintermediatein O sp3 O sp? O sp O d2sp?
which Cis ....hybridized.
The addition product of Grignard

9 reagent with %rmaldehyde gives O P-alcohal O S-alcohal O t-alcohal O Ketone
....... upon hydrolysis.

10 Cu* (3d"9)is ......... O Colourless O Blue O Green O Purple
In which of the given compounds ;

11 the central atomdoesnotshow () Methanol (O Methanal O g/lc?éhanom (O Acetone
sp? hybridization?
Which of thet r?iven comp<|3ur|1ds
can react with ammonical silver

12 nitrate solution to form silver O Acetone O Ethanol O Ether O Ethanal
mirror?
The reduction of }C=0 to }CH Wolf Kishner Catalytic Z»-Hgand -

13 is carried out with/ ,,,,,,,,,, e O reduction O reduction O Crz)ne.HCI O LiAlH4
How many types of NMR protons

14 are therelyn éutanoicacidéJ O 8 O 2 O 6 O 4
In which of the given

15 disaccharides both the structural O Maltose O Lactose O Sucrose O All of these
units are the same?
The temperature (C°) range of : B . Y .

16 oposphersis ... O 151056 () 6102 () 2t0-92 () -92t0 1200
Ethoxy ethane reacts with P . Alkyl free T
17 conc).(mzsozt 0 give....v.v.l _____ O Oxonium ion O Oxoanion O rad?/cal O Zwitter ion
18 Which one of the given is O PVC O Polythene O Nylon O None of these

condensation polymer?




